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1.Which of the following statements regarding writ of certiorari is/are correct?
1. There should be court, tribunal or an officer having legal authority to determine the questions of deciding
funda-mental rights with a duty to act judicially.
2. Writ of certiorari is available during the tendency of pro-ceedings before a subordinate court.
Select the correct answer using the code given below :
(@)1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

2.Which one among the following is not correct about Down’s syndrome?
(a) It is a genetic disorder (b) Effected individual has early
(c) Effected person has mental retardation (d) Effected person -has furrowed tongue with open mouth

3.The rainfall distribution pattern over the Ganga basin decreases from the
(a) west to east and north to south (b) east to west and north to south
(c)west to east and south to north (d) east to west and south to north

4.Which one among the following elements/ions is essential in small quantities for development of healthy teeth
but causes mottling of the teeth if consumed in higher quantities?

(a) Iron (b) Chloride (c) Fluoride (d) Potassium
5.Which one among the following pairs is correctly matched?

(a) The second Battle of . Defeat of jaichand Tarain of Kanauj by Muhammad of Ghur

(b) The First Battle of . Defeat of Sikandar Panipat Lodi by Babur

(c) The Battle of Chausa . Defeat of Chausa Humayun by sher shah

(d)The Battle of Khanwa . Defet of Rana Pratap by Akbar

6.World Wildlife Crime Report is published by which of the following organisations?
(a) World Wildlife Fund (b) Interpol (c) IUCN (d) UN office on drugs and crime

7.Consider the following statement regarding Rihla:
1. Book is written in Arabic and it dealt on the social and cultural life in the subcontinent in the fourteenth century.
2. Writer of this book was born in Tangier into one of the most respectable and educated families known for their
expertise in Islamic religious law or shari‘a.
Which of the above statement(s) is/are correct?
Select the correct code using option given below:
(@) Only 1 (b) Only 2 (c) Bothl and 2 (d) Neither 1 nor 2

8.Who were Kudirai chettis in VijayNagar empire :
() Horse Traders (b) Rulers of Empire  (c) Military chiefs (d) Low caste communities

9. Who was the founder of Gavdiya branch of VVaishnavism?
(a) Thyajaraja (b) Tukaram (c) Surdas (d) Chaitanya

10. Consider the following statements regarding Hunter Committee of Inquiry.

1. It was constituted to investigate the Jallianwala Bagh massacre.

2. There were no Indian members in the Committee.

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2
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11.Which one of the following statement is incorrect?

(a) Mahadev Govind Ranade founded the Indian National Social Confrence.

(b) Jyoti Rao Phule founded the Akhil Bharitiya Dalit Varg Sabha

(c) South Indian Liberal Federation was first non-Brahminical organisation founded by T.Thagraj.
(d) The Justice Party was the forerunner of Dravida Kazhagam.

12.Consider the following statements with respect to Bhima Koregaon Battle.

1. It was fought between Peshwa Sambhaji and the English East India Company.

2. Mahars who were once part of Maratha army, fought against Marathas in this battle.

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

13.Consider the following statements regarding Indian Council of Social Science Research (ICSSR).

1. It is an autonomous organization established in 1969 to promote research in social sciences in the country.
2. It comes under the Ministry of Culture, Gol.

Which of the statement(s) given above is/are correct?

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

14. What is the scientific reason behind the usage of CO2 to extinguish the fire caused due to electrical or other
fire accidents?

(a) It reduces the heat generation around the accident spot.

(b) CO2 reacts with oxygen thereby reduces the source for the flame.

(c) It is heavier than oxygen and covers fire like a blanket.

(d) The lighter nature of CO2 makes it to act as a catalyst to extinguish the fire.

15. The Civil Liability of Nuclear Damage Bill, passed in the Lok Sabha on August 2010, does not make provision for
(a) establishment of claims commission and appointment of claims commissioner

(b) a liability cap of f 1,500 crore on an operator in case of an accident

(c) a liability cap of f 1,500 crore also on the Government of India in case of an accident

(d) liability of the operator even if an accident is unintentional

16. Mahatma Gandhi Rural Employment Guarantee Act makes a paradigm shift from the previous wage
employment programmes by

(a) focusing on all-round development of the rural people

(b) providing wage employment in rural areas a legal binding for the State Governments

(c) providing a ° statutory guarantee of wage employment

(d) augmenting food security through wage employment in rural areas

17. Contact lenses are made from
(@) polyvinyl chloride (b) polystyrene (c) Lucite (d) Teflon

18. Which one among the following best explains the reason for the eastern and western boundaries of the Pacific
Ocean experiencing frequent earthquake?

(a) There are deep ocean trenches along these margins

(b) High mountain stretch along the continental margins adjacent to this ocean

(c) The currents of the vast Pacific Ocean continue to dash against the continental margins

(d) These margins coincide with the plate margins

19. The blackboard seems black because it
(@) reflects every colour (b) does not reflect any colour
(c) absorbs black colour (d) reflects black colour

20.Which of the following is true regarding Entry of Monsoon in West Bengal?
(a) Monsoon enters West Bengal from South west direction.

(b) Due to deflection by Mizo hills Monsoon enters from south or south east direction.
(c) Monsoon enters from North east direction.

(d) None of these
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21. Which one of the following is the largest component of the soil system?
(a) Living organisms (b) Mineral matters (c) Soil solution (d) Soil organic matter

22.Consider the following bodies:

1.NALSA 2.NHRC 3.Law Commission
Which of the above bodies is/are statutory bodies?
(@) 1 and 3 only (b) 2 and 3 only (c) 1and 2 only (1,23

23. Sileru, Saberi and Saptadhara rivers flows through state of:
(a) Bihar (b) Maharashtra (c) Odessa (d) Tamil Nadu

24. Consider the following statement regarding land Revenue system of Mughal empire:

1.Land revenue system of Mughal’s were on scientific lines.

2. Only cash was being accepted from cultivators

Select the correct code using option given below:

(@) Only 1 (b) Only 2 (c) Bothl and 2 (d) Neither 1 nor 2

25. Consider the following statements:

1. The mid-day sun shines overhead on north pole once in a year.

2. 180° East and 180° West meridians are on the same line

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

26. Consider the following statement about intergovernmental Panel on Climate Change:

1. It was established by the United Nations Environment Programme (UNEP) &amp; the World Meteorological
Organization (WMO) in 1992.

2. The IPCC does not conduct its own research.

3. India is not a member of IPCC.

Select the correct option using the code given below:

(@) 1and 2 only (b) 2 and 3 only (c) Only 1 (d) Only 2

27. Which of the following fund is/are established under UNFCCC

1. Green Climate Fund (GCF) 2. Adaptation Fund (AF) 3. Special Climate Change Fund (SCCF)
Select the correct option using the code given below:

(@) 1 only (b) 1 and 2 only (c) 1and 3 only (d) All of the above

28. Which organisation conducted a study of satellite-based data for the identification of nitrogen emission
hotspot (NEH) around the world?

(a) World bank (b) Global environment facility  (c) Greenpeace (d) IPCC

29. Which of the following greenhouse gases is/are recognised by Kyoto protocol?

1. Water vapour 2. Carbon monoxide 3. Chlorofluorocarbon 4. Methane

Select the correct option using the code given below:

(a) 1 and 4 only (b) 3 only (c) 4 only (d) 1,2 and 4 only

30. Consider the following statement about Asian Elephant Alliance:

1. It aims to secure a safe future for the wild elephants of India, which make up approximately half of the world’s wild
Asian elephants

2. It is an umbrella of five NGOs only

Which of the statements given above is/are correct?

(@) lonly (b) 2 only (c) Both 1 and 2 only (d) Neither 1 nor 2
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31. Which of the following statement with reference to Kelp forest is/are correct?

1. They are large brown algae seaweeds.

2. It grows in nutrient rich waters.

3. The productive kelp forests tend to be associated with areas of significant oceanographic upwelling.

Select the correct answer using the code given below:

(@) 1 and 2only (b) 2 and 3 only (¢)1,2and 3 (d) 1 and 3 only

32.Wealth Accounting and the Valuation of Ecosystem Services (WAVES) is an initiative of:
(a) UNDP (b) World Bank (c) UNFCCC (d) IPCC

33.Consider the following statement about Climate smart agriculture (CSA):

1. Itis an integrative approach to address these interlinked challenges of food security and climate change.

2. It is supported by Food and Agricultural Organisation (FAO).

Select the correct answer using the code given below

(@) L only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

34.Consider the following statement about QR code (Quick Response code):

1. It’s a three-dimensional (matrix) machine readable bar code made up of black and white square.

2. QR Code can store up to 7089 digits as compared to conventional bar codes which can store max 20 digits

Select the correct answer using the code given below

(@) 1 only (b) 2 only (c) Both 1and 2 (d) Neither 1 nor 2

35. Consider the following statement about Zoonotic diseases:

1. A zoonotic disease is a disease that spreads between animals and people.
2. They can be caused by viruses, bacteria, parasites, and fungi.

Select the correct answer using the code given below

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2
36. Which of the following constitutional provision facilitates union control over states in

1. All India Services 2. Grantin Aid 3.Inter state council

Select the correct answer using the code given below:

(@) 1 and 2 only (b) 2 and 3 only (c) 1 and 3 only (d)1,2and 3
37.Consider the following statements.

1. Right to Property is a constitutional right in India. 2. Right to education is a fundamental right in India
Select the correct answer using the codes below.

(@) 1 Only (b) 2 only (c) Both 1and 2 (d) None of the above

38. If you are elected as the President of India which of the following decision can you take on your own?
(a) Select the person you like as Prime Minister.

(b) Dismiss a Prime Minister who has a majority in Lok Sabha.

(c) Ask for reconsideration of a bill passed by both the Houses.

(d) Nominate the leaders of your choice to the Council of Ministers.

39. Which of the following statement(s) is/are correct about Pressure group?

1. Pressure group tries to promote the interests of their members by exerting pressure on government.
2. The Pressure groups are organisations of universal character

3. The pressure group wants to actively joins political parties and grab power.

Select the correct answer using the code given below:

(@) 1and 2 only (b) 1,2and 3 (c) 1 and 3 only (d) All of the above
40.The power of judicial review ensures:

(a) The supremacy of the Supreme Court (b) That Supreme Court can review its own Judgements

(c) The constitutionality of laws (d) Justice by the subordinate courts
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38. I T HRA & Tegafd & T F g I ¢, O A=ff@a & F sia @ vk 39 @7 @ 7w &2
(a) T& AFT Iofoll fHQ 3T GUTHAN & &9 # GdG X Bl

(b) SNFEHAT & TgAT IGA AT FEAAAT HT GRS H T

(c) =t wewt garT T fates &1 qofdaR & & fow ager |

(d) 379l Ui & Aansit @ ARIRYE &7 AfAT FET |

39. garg g ¥ AR A fwrfaf@a & & Fla a1 Fya7 7w T/ 2

1. GOTT HHE TR W Gad TG 39T TEEAT & @l & JQIar ol T HIRAL T &
2. gaTd @Hg ArasifAs aRT & oo ¢ |

3. g HHE Vo gelf # AR ®9 & AT @ aEar ¥ IR T R e ¥
A feU 1T FIS HT IU[T Fh T I o

(@) daer 1 3R 2 (b) 1, 2 3R 3 (c) 1 3R 3 Faa (d)3ReFaT |l
40. =RF e A afFT FARaa wwa &

(a) glH HIE & Fafeedr (b) e HIE Ut TaF & A0 o AT F Fohem &
(c) Iefar hr HAeferenar (d) 3EfTEYT ATl GaRT # ™
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41. Which one among the following groups of items contains only biodegradable items?
(a) Wood, Grass, Plastic (b) Wood, Grass, Leather
(c) Fruit peels, Lime juice, China clay cup (d) Lime juice, Grass, Polystyrene cup

42. Which one among the following is not true for Special Economic Zones?
(@) No licence is required for import

(b) Manufacturing and. service activities are allowed

(c) No permission for subcon- tracting

(d) No routine examination of cargo for export / import by customs authorities

43. Consider the following statement and identify with the help of the code given below the person who made the statement :
“It would be quite impossible for a few hundred British to administer against the active opposition of the whole of the
politically minded of the population.” Code :

(a) Jawaharlal Nehru in April 1947 in an address to Congressmen at Lucknow

(b) Clement Attlee in January 1947 in a private letter addressed to Ernest Bevin

(c) Lord Mountbatten in December 1946 in a note given to British Parliament

(d) Viceroy Wavell in January 1946 in a letter to Secretary of State

44, Sukhoi-30MKI Squadron is not stationed at
(a) Tezpur (b) Pune (c) Jamnagar (d) Bareilly

45. Dog bite can cause rabies. Which among the following other animals can also cause rabies?
(a) Donkey (b) Bat (c) Horse (d) Crocodile

46.Strait of bab el Mandeb is sandwiched between:
(a) Somalia and Yemen (b) Ethiopia and Saudi Arabia  (c) Djibouti and Yemen (d) Eritrea and Saudi Arabia

47. Consider the following statement:

1. Paris climate agreement has no clause of withdrawal and on withdrawal other countries may restrict trade with that country.

2. Aim of Paris agreement is to retain the global temperature rise this century well below 2 degrees Celsius above the pre-industrial
level.

Which of the statements given above are correct?

(@) 1 only (b) 2 only (c) Both 1 and 2 only (d) Neither 1 nor 2

48.Consider the following statement(s) w. r. to UNESCO creative cities Network:

1. It was created in 1972 to promote cooperation with and among cities that have identified creativity as a strategic factor for
sustainable urban development.

2. The Network covers eight creative fields: Crafts and Folk Arts, Media Arts, Film, Design, Gastronomy, Literature and Music
and painting

Select the correct answer using the code given below:

(@) Lonly (b) 2 only (c) Both 1 and 2 only (d) Neither 1 nor 2

49. In context to WTO “zeroing” was in News.
This related with

(a) Sanitary and Phytosanitary measures (b) Non- violation complaints

(c) Dumping (d) None of the above

50.Consider the following factors:

1. Rotation of the Earth 2. Air pressure and wind

3. Density of ocean water 4. Revolution of the Earth

Which of the above factors influence the ocean currents?

(@) Land 2 only (b) 1,2and 3 (c)land 4 (d)2,3and 4




4. fmafaf@a # & Fla-@ e #Ag-aE & A de Aol 78 §2
(a) FIs3, UMY, ToTieed (b) FTs3, TH, T
(c) Wl & Bereh, g &1 W, @l A &1 wrer (d) i & W, 91d, difeeersdsT &l el

42, PFafaf@a & @ Fia-a1 o, Ry afis aF F v @ a8t 82

(a) 3T & foT ardw T TR A& B

(b) Faf#ToT AR Jar FREFAT H AT gl §

(c) 3udfaer & # IFAfY TG g

(d) rATa/3mara & AT T HAT-Yoh HRARRAT garT FIAT S A& g

43. famafaf@a sy W AR ffow 3k T Re 70 Fe f gerar & 3@ @fFa f ggaa Hfow e 77 F9q @
5o a3 R I TeEaE AaAgFd T § AT Y F 3@ gU 3H W ATHA FIAT FO IFAET
| Fe:

(@) TGS H 3T 1947 H HOASA & AL AT H SJATEIATA AgE

(b) ST 1947 ¥ 3rfee e &1 @ ve @sh 93 & Feivic tear

(c) eaFsR 1946 # fofeer ¥ag & QU 710 Al # dis A3vcscA

(d) STeTadr 1946 & Ashed 3iTH T A oG T gx F JEWIT addT

44. gAE-30MKI Fhiger gl U =gt &7
(a) AR (b) qoY (C) STHAR (d) ¥

45. Fed F Fea F ST @ T ¢ efaf@a ae St F @ o Fla-an, YW F1 FROET FHar 82
(a) Irar (b) THES (c) &sr (d) FIRHATS

46. 919 A A fFuF T ¢ ?
(a) GraATTerAT AR TAA  (b) SRAAWMTAT 3R T8 IR (c) Tl 3R F7aA (d) sRfAT 3R TFr 3R

47. farafaf@a 9 W AR F:X:

1. 9RE Sielarg g & ol @1 HI$ TS 7L & 3R T FA W T 38 U $ Y GOR A GA&RT HT ool g
2. 9@ FASA FT 3682 3H W # ARG AGAE Jef¥ B @-3eAfE TR @ 2 Bl Afcww M FAw e g
R feu arv *la @ Fy=T § @@ I a2

(a) a1 (b) Faer 2 (c) FaeT 1 3R 2T (d) Tar 13T &2

48. TATH! TAIHS AU & decad & IR # Afafl@a w39 w fEr ;)

1. 38 1972 # 3R A & oI T TEIRT &l deldl ol JUT TART el faahrd & v v WEifas SRE & 9 H ellcAshdr
H GgdleT Gol & [T FATAT AT |

2. dAca® H S ITlcA® & AT §: Req AR A wvorm, AT Fvar, rea, Bomsa, degar, o 3R Ffa
3R d9fear

A feU AT @IS HT 3U[T Fh FE I G

(a) shad 1 (b) Faer 2 (c) FaeT 1 3R 2 a&AT  (d) FTar 1 3R & 2

49. T AR oA & Wy A "YraFor FAER # u1 ¥7 FEd wefta

(a) TaToar AR dey Fed 39 (b) IR-3eereeT FHr R (c) STar (d) 3RFT H & HIS =g
50. Arfaf@d FRHT W AR X

1. g &1 goie 2. gaT &7 &a1d 3. @Hg & Ul H Eeled 4. gy &1 aRhar

3TNFT FRDT H H Sl AT AGARR URIHAT I AT AT 87

(a) daer 131 2 (b) 1, 2 3R 3 (c) 1 3R 4 (d) 2, 3 3 4
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51. Why South-East Asia has the largest concentration of peasant population at the global scale?
(a) The area is dominated by shifting cultivation due to favourable terrain character

(b) Intensive subsistence farming is practised in the region

(c) The region has favourable and healthier climate

(d) The area has a large forested area which is cleared for cultivation of various crops

52. Brent index is associated with
(@) crude oil prices (b) copper future prices (c) gold future prices (d) shipping rate index

53. Which one of the following is an indigenously built light combat aircraft of India?
(a) Akash ® Vikrant (c) Tejas (d) Arjun

54. The President of India is elected by a proportional representation system through single transferable vote. This implies that
(a) each elected MP or MLA has an equal number of votes

(b) MPs and MLAs of a State have the same number of votes

(c) all MPs and MLAs have one vote each

(d) MPs and MLAs of different States have different numbers of votes

55. Which one among the following statements regarding the social and religious reform ideas of Raja Rammohan Roy is not correct
(a) His efforts led to the formation of Brahmo Samaj in 1828

(b) He considered different religions as embodiments of universal theism

(c) His Vedantic monism was strengthened after 1815 since an exposure to Christian Unitarianism

(d) He paid attention exclusively to the problems/issues of the emerging middle class of India

56. market failure occurs because of

1. Externality 2. Asymmetric information 3. Perfect competition
Select the correct answer using the code given below :
(@1,2and 3 (b) 1 only (c) 1and 2 only (d) 2 and 3 only

57.Which one of the following is a capital receipt in government budget ?
(@) Interest receipts on loans given by the Government to other parties

(b) Dividends and profits from public sector undertakings

(c) Borrowing of the Government from public

(d) Property tax receipts

58.Consider the following statements regarding general characteristics associated with tropical cyclones:

1. Tropical cyclones move with very low velocity over the oceans but become strong while moving over the land areas.
2. They are confined to a particular period of the year (mainly summer) and normally move from west to east

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2
59.Consider the following:

1. Smelting plants 2. Coal Thermal plants 3. Fossil fuels

4. Volcanos 5. Metals processing

Which of the above is/are sources of sulphur pollution

(@) 1,2,3and 5 only (b) 1,2,4 and 5 only (c)1,2,3,45 (d) 1,2,3and 4 only

60. Protection of lakes is an objective expressly stated in which one of the following ?
(a) Fundamental Duties

(b) Directive Principles of State Policy

(c) Fundamental Rights

(d) Eleventh Scheule to the Constitution
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51. SAVSAT AR W FIF TAGEAT FT FhoqoT Fad HfOF fAor-q8 wlrr & ¥ 82
(a) 3eTher & TN & HRUT 3 Felleh R TR HT HT Yo &

(b) 5 &9 & Huel fAdTg HN A S &

(c) &1 &I Searg 3efgmer IR FEEAYS §

(d) 3T 87 & T 937 g-817 ¢ o8 e vaar fr I F v I Far =& §

52. 9C WAHF 3T &
(a) 3dftsspa e A Haar & (b) dfS & arer HHAAT &
(c) | Fr arer HAGT T (d) sitaRegeT &X gasis &

53. farrfaf@a & & Fla-ar oF, qU A & a1 AR FT o1 I&F AGAT 87
(a) 3TeRrer (b) Tasprea (c) dere (d) 35T
54. R FT WU THA FEAUNT A & ANT FARITaF e & garr FafRa gar &) sua PAtad § &
(a) & faaifaa aiwe ar fAurgs & A4 Hr dear ga=T g §

(b) EIEET TUT TST & TAURHT & Al T TEAT AT gl &

(c) Tsfr @iwer 3R furast & & & 1 UF Ad T §

(d) Trer 3R faffea T=at & faumaer & Adr fr gear e gar &

55.frfaf@a Fy=l & § Fia-a1 v, T TAAET T F g IR afiE gUR F ARt F Eaew F a9 8
(a) 37 FATE! & 1828 # STeA AT B TATAT €5

(b) 3giet Raffiet uaAt &1 dafe Seaxag &1 AT & AR

(c) 3T dgTecll 3Eddate 1815 & STg $HIS RANFIAIG & YHIGEA®RY Hofed 3T

(d) 381 3T ®T ¥ IEIATT AR ALAH qof i geeansii/Aeal W) & e

56. 99X $T RAwerar & FROT g1 &

1. SEFdr 2. g fawHdr 3. Hqot gfaafaar
HIS I 3TINT HIh T IR ol oA fow are
(@ 1,2 3R 3 (b) Faa 1 (c) shaer 1 3 2 (d) 2 3R 3

57. Mrfaf@a # ¥ Fi9 TFEW Tore & w G g §2
(@) 3T Uall & WHR gaRT AU T HUT W g7 wifeaar (b) TTaSTIh 81T & 3UhAT A T 3T o
(c) AT A TIHR & IUR o=l (d) F9RT X G

58. ISurhfeatiiy Thardl ¥ 3 FHY FAdvant & R A fAmfaf@d syt w R S

1. 3SUTRTEEIT Tshald HEMNRT & FW dgd FA 9T & AT Teid § Afthet ${f& &5 R Told FATASIIT & & ¢ |
2. 9 ay & v 4V 3af® (Feg &7 @ A A) dw DfAd § iR ey w7 @ aftasw & 99 # 3R gord §
W U 3T YT H & HieT A1 Ter g / 82

(a) oo 1 (b) Faer 2 (c) 1 3R 2 a=r daart1ikad

59. farrfaf@a w AR F

1. qief 1 g=ar 2. Il YF T Toe 3. Siraned sy 4. sareradr 5. YT TEHEROT
IRFT A A FiT T TEH TG0T 1 AT § / §
(a) 1,2, 3 i 5 (b) 1,2,4 i 5 (c) 1,2,3,45 (d) 1,2,3 3T 4

60. Y &T TIETUT FY TH 327 T A TS T AfAUT & Fg sor H Fgr A ¢ 2
(a) Hifow T (b) =T Afa & A Rgyra (c) #Hifosm 3fUdR  (d) AfaureT $T TgREdT e
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61. Veeru invested Rs 10000 at 5% simple annual interest, and exactly after two years, Joy invested Rs 8000 at 10% simple
annual interest. How many years after Veeru's investment, will their balances, i.e., principal plus accumulated interest, be
equal?

(a) 10 (b) 12 (c) 22 (d) 15

62. In a triangle PQR, PQ =12 cm and PR =9 cm and angleQ+ angleR 120°.Find the length of QR.
() 15/\2cm (b) 3V13 cm (c) 5N5 cm (d) 5717 cm

63. Two cars P and Q start from two points A and B towards each other simultaneously. They meet for the first time 40 km
from B. After meeting they exchange their speeds as well as directions and proceed to their respoctive sterting points. On
reaching their starting points, they turn back with the same speeds and meet at a point 20 km from A. Find the distance
between A and B.

(a) 130 km (b) 100 km (c) 120 km (b) 110 km

64.The age of a son, who is more than two years old, is equal to the units digit of the age of his father. After ten years, the
age of the father will be thrice the age of the son. What is the sum of the present ages of the son and the father?
(a) 30 years (b) 36 years (c) 40 years (d) Cannot be determined

65. Rohan and Sohan start simultaneously from a point A on a circular track and run in the same direction. The speed of
Rohan is nine times the speed of Sohan. How many times are they diametrically opposite to each other by the time Sohan
completes three complete rounds on the track?

(a) 27 (b) 23 (c) 48 (d) 24

66. Lal, a horticuturist always divides his gardens perfectly and completely into several identical squares and places posts
at all the corners of all the Lal chose a rectangular garden and used 36 posts in all find the maximum number of trees that
he could have planted in the garden?

(@) 25 (b) 36 (c) 16 (d) 49

67. Each one of Mr. Raj, his mother, his wife and his son is a affluent professional among lawyer, doctor, engineer and
accountant. The accountant is not the son of the lawyer, who is a blood relative of the doctor. The engineer is the son of the
accountant, who is not a blood relative of the doctor. Who can never be the doctor?

(@) Mr. Raj (b) Mr. Raj's wife (c) Mr. Raj's son (d) Both Aand C

68. Five boys - Vivek, Abhishek, Roy. Das and Ranjan - were compared in terms of height and weight Vivek is taller and

lighter than Abhishek. Ranjan is shorter and heavier than Das Both Abhishek and Roy are taller and heavier than Das If
Abhishek is taller than Roy, then Vivek is heavier than Ranjan Roy is heavier than Abhishek. If Roy is heavier than Das,
then Abhiahek is taler than Roy. Who is the lightest?

(@) Roy (b) Das (c) Ranjan (d) Abhishek

69. Five men, A, B, C, D and E, sitting (in this order) at a round table had to decide as to who among them would be the
Chairman. The best way, of course, wan to decide by voting None of the five members voted for himself or for either of his
neighbors The first ballot resulted in a tie The second time, C voted for E while, the others stuck to their old choices,
thereby resulting in Es victory. Then, the person who voted for B in the first ballot was

(@D (b) E (cC (d) Cannot be determined

70. A and B start simultaneously from P and Q towards Q and P respectively. The speeds of A and B are 25 kmph and 32
kmph respectively. They meet at R and immediately return to their respective starting positions after exchanging their
speeds. The distance between P and Q is 2000 km, than the deference in times taken by A and B to reach their respective
starting positions is

(@) 15.5 hours (b) 20 hours (c) 16 hours (d) 17.5 hours
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61. T & 5% WURYT AF AT T 10000 T9F F1 foader fram, 3R &Y w1 a@re, ST A 10% WrURor aiffs sarer W
8000 T9¥ FT fader framl e & faer & forasr @rer @rg, 3@ AY TR, AR Fave R ST ST WA gem?
@) 10 (b) 12 (c) 22 (d) 15

62.t% fFr # PQR, PQ = 12 @M 3R PR = 9 @AM 3k :or Q + :T R = 120 °, QR H d«1§ 7AAd HAfaw)
(@) 152 cm (b) 3V13 cm (c) 5V5 cm (d) 517 cm

63.3T FX P 3R Q vF Wy wH q@¥ H A A g A 3 B @ g% @l §1 F wgeh aw B ¥ 40 At gy e §
e & a1 3 Ivel afa & a1y yee A § AR IR qeanet gt woamer wed ¥ ver-wry st @ osmerr-
YEITA gt W ogw W, 3 FAW AT § 99w A3d § AR A @ 20 Al Fr gt W A F A IR B F dw A
g Aa fifgT |

(a)130 sty (b) 120 faefr (c)100 farsfr (d)110 fefr

64.0F ST T Y, I AT F I F sFS IiF V2 W 3WF & | gw af & arg, Nar A 3y @ # 3y Fv1 e
et gl gF R Ryar A acdarer 3y oA =& §?
(a) 30 rer (b)40 |Ter (c) 36 &I (d) Puifa & fFar ST aar

65.08 IR WeaT vF g A & tF WY MNAFR ¢F W Y& & § 3R & & er & gaad § Qg 7 q1f3 dea A
afa @ &t I ¥ 99 aF Wed F Wl qoF R QU FaT § a9 aF 3 fraelt R v quy & Rl e §
(a) 27 (b) 23 (c) 48 (d) 24

66. AT, U&F derar fAATA gALAT YA F9El A T e ¥ AR O e ¥ FF ¥AW qait § qiear § AR wit 9t F
it FAl W I AT ¥ FWF 916, q¢ Ui T U U3 oemar g1 IR AT F 0F AR 35T g AW weft 7 36
gl #T 30T R, @Y AfAwaw 93 FaT oY gg S H F9m FHar ar?

(a) 25 (b) 36 (c) 16 (d) 49

67. AT TS, 3AN AT, 3AH Teoht IR IaAF ¢ H @ A Thd, siae?, SofamR 3R vahsde § 3 =t dem srerer
2 | 3FFEEC T FT T JAGl §, Y SiFR FT 548 RNAfed B SHAAIX JF3eC FT T §, S SFeX FT sels NAfeT
a8t &1 FiT Foft st AE B FRaAT?

(a) e T (b) X TS & aT (c) e TS # gt (d)a 3 ¢ a=r

68.91 @sHl fadF -, 3T, T, g IR o1 i o IS AR T9T F AHS A A w5 O R A @ Far
3T gowr §1 9 g @ oer AT ol 1 e it I Y g & AfAw W v ol 1 3R PN T @
dar g, o fde o @ ardt 31 T afiw @ a® B IR} I qw @ few amd Bt afendw Wy geem A &
Tl WEH goH T 82

(a) A= (b) Tote (c) e (d) 3

69. TF e A W 91T I¥W, A, B, C, D 3R E, (39 F7 # #1 7§ aF F A7 % 307 F Fla areay goml w@a (
IresT adiwT, ARea &7 & #Adee @ERT a7 fFar = an 9w st 7 @ R 9 st e W e wifdEt F v
#aee g fRaTl g Adae & IRUTATTET ¥ g3 @ AR, C A E Y dre R, safd 3w o sruer g
THE & FROT ew T, fFwd aRumrras E A i g8l R, ggd #quw # B #Y A 7 A AfFd Fa § 2
(@) D (b) C (c) E (d) FeiRa &7 frar o7 ahar §

TOAFRBUF AT P AR QA FAW: e add QIR P A s | A 3k B # aifay warer: 25 fnalt afy wer 3k
32 frelt gfe wer 1 F el fy 7 e Yo A F 96 [a-R @ BAaad §1 IR P sk Q F T Fir g 2000
el @, @ A 3R B Z@rT srve waftd IRfT wel aF wgua # @ A wHa H A P |
(A) 155 & (b) 20 &2 (c) 16 & (d) 17.5 ¢
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71. A total of 501 digits are used in numbering the pages of a book as 1, 2, 3,4.. and so on. Which of the following is a
tractor of the total number of pages in the book?
@7 (b) 4 (©)5 (d)3

72 to 74 DIRECTIONS for questions on the basis of the information given below Answer the In a locality there are five
buildings- A, B, C, D and E. All of them are of different heights. The tallest building has five floors, the next tallest has four
floors, and so on, till the shortest which has only one floor. Further it is known that:

(1)The sum of the number of floors in A and E is equal to the sum of the number of floors in C and D.

(2) C is not the tallest building and A is not the shortest building.

(3) Cis taller than A and D is taller than B.

72.Which building is the shortest?
(@) B (b) A () E (d) Either B or A

73.1f D is taller than C, then for how many of the following pairs of buildings is the sum of floors a perfect square?
(1)Band A (2)Dand E (3)Cand B
(CYRY (b)1 (c)2 (d)3

74.1f D is taller than C, then which of the following is true?

(a) If the buildings, from left to right, are in the ascending order of their heights, then no two buildings whose names alphabets are
adjacent to each other.

(b) The sum of the number of floors in C and A is equal to the number of floors in E.

(c) The sum of the number of floors in D and E is a prime number.

(d) B is not shorter than C.

75. Amit borrowed 21,000 from Vinay at 10% p.a., under compound interest, compounded annually. If Amit has to repay
the loan in two equal annual installments, find the amount that he needs to pay in each installment.
(a) 12,100 (b) 12,600 (c) 12,705 (d) 12,000

76. If a seller gives a discount of 15% on retail price, she still makes a profit of 2%. Which of the following ensures that she
makes a profit of 20%? Options :

(a). Give a discount of 5% on retail price. (b). Give adiscount of 2% on retail price.

(c). Increase the retail price by 2%. (d). Sell at retail price.

77. Suppose, C1, C2, C3, C4, and C5 are five companies. The profits made by C1, C2, and C3 are in the ratio 9 :10:8 while
the profits made by C2, C4, and C5 are in the ratio 18: 19: 20. If C5 has made a profit of Rs 19 crore more than C1, then
the total profit (in Rs) made by all five companies is Options :

(@) 438 crore (b) 435 crore (c) 348 Crore (d) 345 crore

78. The number of girls appearing for an admission test is twice the number of boys. If 30% of the girls and 45% of the
boys get admission, the percentage of candidates who do not get admission is.
(@) 35 (b) 50 (c) 60 (d) 65

79. In a market, the price of medium quality mangoes is half that of good mangoes. A shopkeeper buys 80 kg good mangoes
and 40 kg medium quality mangoes from the market and then sells all these at a common price which is 10% less than the
price at which he bought the good ones. His overall profit is

(a) 6% (b) 8% (c) 10% (d) 12%

80. In a circle, two parallel chords on the same side of a diameter have lengths 4 cm and 6 cm. If the distance between these
chords is 1 cm, then the radius of the circle, In cm, is

(a) V14 (b) V13 ©11 (d)V 12
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71.5%8 g & gsat @I 1, 2, 3, 4 ... AR gAd W Welel & AU Hor 501 37ehi T 3UHT fhaAr S g1 HeAtarad
A @ Hlef @ FEAT G A Fol Yol AT T&AT F hefel 872
(@ 7 (b) 4 (©) 5 (d) 3

e -729 74
dr e ae gaem & 3muR @ weal & faw wea

TF S A 9T ARG & -A, B, C, D 3K EI ¥ |sft arerer 3rerer Fumsal fr §1 we@ 3= sARG A-uiw AT
g € 3rrelt T S AR AfS @l § 3k 3 ave weRd o A a @t ¥ suF 3remar @ AT § o
(1A 3% E # wet & & &1 avr C3ilk D # #Aforal & §&ar & s} ¥
(2) @ ga® Ft AR A § IR T F9@ S ARG A B
(3) C, A & gorem # &t ¥ 3X D, B & ar ¥

721 @ ARG TEH O g7
(a) B (b) A (c) E (d)arar B am A

73.3f& D, C & ot 3, @ fwsr F & fraet s@al & web F1 A1 vk qot @t @2
() B3R A (i) D3R E (i) C 3R B
(@) 0 (b)1 (c) 2 (d) 3

74. I D, C ¥ o« §, O wafaf@a & @ #la a1 a7 2

(a) I AR, STC & aTT, e Sersal & sgd FA # &, A FS o &7 AR Foefoh Iehee Th g@ & A gV §l-
(b) C 3R A & AfST fr T&ar &1 AT E 7 #foet fr & & SR gl

(c) D 3R E & #AfSalr Hr gxar &1 a1 v WsH @&

(d) B, C ¥ ol /g ¥ |

75.3%Aa A e & 21000 TIAT 3UR fom, 10% p.a W, THgl A< & dgad | I 3T 1 & woer afds freat
# HOT g B, A TF AR g S 3 IAF fred A g gl
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1 &+ &, af gea A Bowr &+t #,
A. V14  B. V13 C. V11 D. V12
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Directions for the following 6 ( six ) items: (81-86)
Read the following two passages anti answer the items that follow each passage. Your answers to these items should be based on the
passages only.

Passage-1

Accountability, or the lack of it, in governance generally, and civil services, in particular, is a major factor
underlying the deficiencies in governance and public administration. Designing an effective framework for
accountability has been a key element of the reform agenda. A fundamental issue is whether civil services should be
accountable to the political executive of the day or to society at large, in other words, how should internal and external
accountability be reconciled ?

Internal accountability is sought to be achieved by internal performance monitoring, official supervision by bodies
like the Central Vigilance Commission and Comptroller and Auditor General, and judicial review of executive decisions.
Acrticles 311 and 312 of the Indian Constitution provide job security and safeguards to the civil services, especially the
All India Services. The framers of the Constitution had envisaged that provision of these safeguards would result in a
civil service that is ruin totally subservient to the political executive but will have the strength to function in larger public
interest. The need to balance internal and external accountability is thus built into (The Constitution. The issue is where
to draw the line. Over five years, the emphasis seems to have tilted in favour of greater internal Accountability of civil
services to the political leaders of the day who in turn are expected to be externally accountable to the society at large
through the election process. This system for seeking accountability to society has not worked out, and has led to several
adverse consequences for governance. Some special measures can be considered for improving accountability in civil
services. Provisions of articles 311 and 312 should be reviewed and laws and regulations framed to ensure external
accountability of civil services. The proposed Civil Services Bill seeks to address some of these should be defined so
that professional managerial functions and management of civil services are depoliticized. For this purpose, effective
statutory civil service boards should be created at the centre and in the states. Decentralization and devolution of authority
to bring government and decision making closer to the people also helps to enhance accountability.

81. According to the passage, which of the following factor/factors Jed to the adverse consequences for governance/public
administration?

1. Inability of civil services to strike a balance between internal and external accountabilities

2. Lack of sufficient professional training to the officers of All India Services

3. Lack of proper service benefits in civil services

4. Lack of Constitutional provisions to define the respective roles of professional civil services vis-a-vis political executive in this context

Select the correct answer using the code given below :

(@) Lonly (b) 2 and 3 only (c) Land 4 only (d)2,3and 4

82. With reference to the passage, the following assumptions have been made :

1. Political executive is an obstacle to the accountability of the civil services to the society

2. In the present framework of Indian polity, the political executive is no longer accountable to the society

Which of these assumptions is/are valid?

(@) 1 only (b) 2 only (c) Both 1and 2 (d ) Neither 1 nor 2

83. Which one of the following is the essential message implied by this passage?

(@) Civil services are not accountable to the society they are serving

(b) Educated and enlightened persons are not taking up political leadership

(c) The framers of the Constitution did not envisage the problems being encountered by the civil services
(d) There is a need and scope for reforms to improve the accountability of civil services

84. According to the passage, which one of the following is not a means of enhancing internal accountability of civil services ?
(@) Better job security and safeguards

(b) Supervision by Central Vigilance Commission

(c) Judicial review of executive decisions

(d) Seeking accountability through enhanced participation by people in decision making process
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Passage
In general, religious traditions stress our duty to god, or to some universal ethical principle. Our duties to one another
derive from These. The religious concept of rights is primarily derived Irani our relationship to this divinity or principle and the
implication it has on our other relationships. This correspondence between rights and duties is critical to any further understanding
of justice, But for justice to be practiced; virtue, rights and duties cannot remain formal abstractions. They must be grounded in a
community (common unity) bound together by a sense of common union (communion). Even as a personal virtue, this solidarity is
essential to the practice and understanding of justice.

85. With reference to the passage, the following assumptions have been made:

1. Human relationships are derived from their religious traditions

2. Human beings can be duty bound only if they believe in god

3. Religious traditions are essential to practice and understand justice

Which of these assumptions) is/are valid ?

(@ Zlonly (b) 2 and 3 only (c) 1 and 3 only (d1,2and3

86. Which one of the following is the crux of this passage?

(&) Our duties to one another derive from our religious traditions

(b) Having relationship to the divine principle is a great virtue

(c) Balance between rights and duties is crucial to the delivery of justice in a society
(d) Religious concept of rights is primarily derived from our relationship to god

Directions for the following 8 (eight) items : (87-94)
Read the following eight passages and answer the items that follow the passages. Your answers to these items should be based on
the passages only.

Passage-1
What climate change will undeniably do is cause or amplify events that hasten the reduction of resources. Competition over
these diminishing resources would ensue in the form of political or even violent conflict. Resource based conflicts have rarely been
overt and are thus difficult to isolate. Instead they take on veneers that appear more politically palatable. Conflicts over resources
like water are often cloaked in the guise of identity or ideology.

87. What does the above passage imply?

(@) Resource-based conflicts are always politically motivated.

(b) There are no political solutions to resolve environmental and resource based conflicts.
(c) Environmental issues contribute to resource stresses and political conflict.

(d) Political conflict based on identity or ideology cannot be resolved.

Passage-2
The man who is perpetually hesitating which of the two things he will do first, will do neither. The man who resolves, but suffers
his resolution to be changed by the first counter suggestion of a friend who fluctuates from opinion to opinion and veers from plan
to plan can never accomplish anything. He will at best be stationary and probably retrograde in all. It is only the man who first
consults wisely, then resolves firmly and then executes his purpose with inflexible perseverance, undismayed by those petty
difficulties which daunt a weaker spirit that can advance to eminence in any line.

88. The keynote that seems to be emerging from the passage is that
(@) we should first consult wisely and then resolve firmly

(b) we should reject suggestions of friends and remain unchanged

(c) we should always remain broad minded

(d) we should be resolute and achievement-oriented
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Passage-3
During the summer in the Arctic Ocean, sea ice has been melting earlier and faster, and the winter freeze has been
coming later. In the last three decades, the extent of summer ice has declined by about 30 per cent. The lengthening
period of summer melt threatens to undermine the whole Arctic food web, atop which stand polar bears.

89. Which among the following is the most crucial message conveyed by the above passage?
(@) Climate change has caused Arctic summer to be short but temperature to be high.

(b) Polar bears can be shifted to South Pole to ensure their survival.

(c) Without the presence of polar bears, the food chains in Arctic region will disappear.

(d) Climate change poses a threat to the survival of polar bears.

Passage-4
Why do people prefer open defecation and not want toilets or, if they have them, only use them sometimes? Recent
research has shown two critical elements : ideas of purity and pollution, and not wanting pits or septic tanks to fill because
they have to be emptied. These are the issues that nobody wants to talk about, but if we want to eradicate the practice of
open defecation, they have to be confronted and dealt properly.

90. Which among the following is the most crucial message conveyed by the above passage?

(@) The ideas of purity and pollution are so deep-rooted that they cannot be removed from the minds of the people.
(b) People have to perceive toilet use and pit-emptying as clean and not polluting.

(c) People cannot change their old habits.

(d) People have neither civic sense nor sense of privacy.

Passage-5
In the last two decades, the world’s gross domestic product (GDP) has increased by 50 per cent, whereas
inclusive wealth has increased by a mere 6 per cent. In recent decades, GDP-driven economic performance has only
harmed inclusive wealth like human capital; and natural capital like forests, land and water. While the world’s human
capital which stands at 57 per cent of total inclusive wealth grew by only 8 per cent, the natural capital which is 23 per
cent of total inclusive wealth declined by 30 per cent worldwide in the last two decades.

91. Which of the following is the most crucial inference from the above passage?
(@) More emphasis should be laid on the development of natural capital.

(b) The growth driven by GDP only is neither desirable nor sustainable.

(c) The economic performance of the countries of the world is not satisfactory.

(d) The world nccd3 more human capital under the present circumstances.

Passage-6
By 2020, when the global economy is expected to run short of 56 million young people, India, with its youth surplus
of 47 million, could fill the gap. It is in this context that labour reforms are often cited as the way to unlock double-digit
growth in India. In 2014, India’s labour force was estimated to be about 40 per cent of the population, but 93 per cent of
this force was in unorganized sector. Over the last decade, the compound annual growth rate (CAGR) of employment has
slowed to 05 per cent, with about 14 million jobs created during last year when the labour force increased by about 15
million.
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92. Which of the following is the most rational inference from the above passage?

(@) India must control its population growth so as to reduce its unemployment rate.

(b) Labour reforms are required in India to make optimum use of its vast labour force productively.
(c) India is poised to achieve the double-digit growth very soon.

(d) India is capable of supplying the skilled young people to other countries.

Passage-7
The very first lesson that should be taught to us when we are old enough to understand it, is that complete freedom from the
obligation to work is unnatural, and ought to be illegal, as we can escape our share of the burden of work only by throwing it on
someone else’s shoulders. Nature ordains that the human race shall perish of famine if it stops working. We cannot escape from this
tyranny. The question we have to settle is how much leisure we can afford to allow ourselves.

93. The main idea of the passage is that

(@) Itis essential for human beings to work

(b) There should be a balance between work and leisure

(c) Working is a tyranny which we have to face

(d) Human’s understanding of the nature of work is essential

Passage-8
There is no harm in cultivating habits so long as they are not injurious. Indeed, most of us are little more than bundle of habits.
Take away our habits and the residuum would hardly be worth bothering about. We could not get on without them. They simplify
the mechanism of life. They enable us to do a multitude of things automatically, which, if we had to give fresh and original thought
to them each time, would make existence an impossible confusion.

94. The author suggests that habits
(a) Tend to make our lives difficult
(b) Add precision to our lives
(c) Make it easier for us to five
(d) tend to mechanize our lives

Directions for the following 6 (seven) items : (95-100)
Read the following four passages and answer the items that follow. Your answers to these items should be based on the
passages only.

Passage-1

‘Desertification’ is a term used to explain a process of decline in the biological productivity of an ecosystem, leading
to total loss of productivity. While this phenomenon is often linked to the arid, semi-arid and sub-humid ecosystems,
even in the humid tropics, the impact could be most dramatic. Impoverishment of human-impacted terrestrial ecosystems
may exhibit itself in a variety of ways : accelerated erosion as in the mountain regions of the country, Stalinization of
land as in the semi-arid and arid ‘green revolution’ areas of the country, e.g., Haryana and western Uttar Pradesh, and
site quality decline a common phenomenon due to general decline in tree cover and monotonous monoculture of
rice/wheat across the Indian plains. A major consequence of deforestation is that it relates to adverse alterations in the
hydrology and related soil and nutrient losses. The consequences of deforestation invariably arise out of site degradation
through erosive losses. Tropical Asia, Africa and South America have the highest levels of erosion. The already high
rates for the tropics are increasing at an alarming rate (e.g., through the major river systems Ganga and Brahmaputra, in
the Indian context), due to deforestation and ill-suited land management practices subsequent to forest clearing. In the
mountain context, the declining moisture retention of the mountain soils, drying up of the underground springs and
smaller rivers in the Himalayan region could be attributed to drastic changes in the forest cover. An indirect consequence
is drastic alteration in the upland-lowland interaction, mediated through water. The current concern the tea planter of
Assam has is about the damage to tea plantations due to frequent inundation along the flood-plains o Brahmaputra, and
the damage to tea plantation and the consequent loss in tea productivity is due to rising level of the river bottom because
of siltation and the changing course of the river system. The ultimate consequences of site desertification Eire soil
degradation, alteration in available water and its quality, and the consequent decline in food, fodder and fuel wood yields
essential for the economic well-being of rural communities.
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92. Fruferfaa & @ 19-91, Sudad u=dg &1 Taifie aiffe fsed (g=wma) 82

(a) YR BT YT SHEET 3o TR AT 1 01 ST A1 T, Afh ST SRISHIR] & HH 51 T |

(b) YR % RIS $TA BT IATGH T F SFAH ST B & o1l YRA & 97 IR B A HlT 5 |
(c) HRa 3ifcr=fier 3 37! &1 fapT U R & 3R SRR B

(d) YR 31 = Y HIS-UTe arsft bt gfd e B gem 7

g7
T Ug UTe, S 8 a9 UgHT ST 1T ofd 81 39 JHSH & oY vaie 939 8 I 8, U8 § fb o oA &
F1edT ¥ ) Wl SUTp T §, 3R 38 IR-BIH! ST A1feY, i §H PTI-HR & 30 TR ¥ Fadt vl 99 Tbd 8, ofd 89 39
el TR & Helf W TTA <1 UHfa A g faum fvan 8 1% ama vonfa, afe &rf -er o R 2, at Yot 9 A8 8) St g9 39
R T 9 T8 THd ¢ | 8 ST T B! AT TS b §H 3UA-3MMUD! {1 3aahm=1 ¢ § 99 gl 9dhd § |

93. ITfad D FTag g faaR B

(a) ATSAT & foTQ Tg Smawas § fr I dT Y

(b) BT TT SHTHTRT & T T g1 dTelq

(c) BT AT Ueb ARG I & o1 88 W1 H-1 81 UsSdl 8
(d) AT & fore &1 &t Uepfal ) THgT SR & |

TR=q-8

3fTedl &1 A R B H1S 1 el 8, 91d a9 1 3 e STBRe = 81| Id H A i &, el &
TR A e $B i € TafRyd Bd &1 9 U el | Iaw g S df ST a2 I TR XS 81 $1S & ol IR | 89 3%
fSFTT ST =i Teb ol | 3 SitaHT o1 Ufeh T & Bl &1 & 1 519 §H 98-8 AW 307 3MMu & & FHd 81 8, e, afe g sv aR = 8k
Tferes IR SR HRA1 918, af 31T U Sriva IagH o+ ol |

94.9P HT Y @ P 3med
(a) TR G D) BIS a1 &
(b) BHR Sita & bl arel &
(c) BHR fo1Q SfiAT 3 el 81
(d) BAR Siia ! AR §91d @

frafafad e uai= & forg A R fRw o IR uiv=de) &) ufew oik uR=del & -9 3 aral yi=i & IR ISl
T YT & 3MMUD IR $ad 59 uRdal uR 81 3menfa g =nfeul

ufvde-1

AU (SSEper) freht Tike B Sia IaTedhdl b BT &1 I UfehT 1 SRS B el Ved 8, o
RO AT dl &1 TYUf g1 81 STl & | TR T8 e UI: I, AHUH 3R e Ui I JS1 g3 §, Ty oms
Iurdsfeas & off STHT UG Sdd e 1 Bl Al g | HTHa-THTId ey Tk o1 gReur @aaiemmie) fafay @i & foa
Tl 8: AR 3ReH, SI1 3 321 & uddia & & g1 ufty &1 dauityeH, ST {6 32 & s iR I TeRassifasy &,
IereRuny gRarn $iR ufdedt SR uew § § 3R R TUrdT g, o f URd & it Al R aufa-iresTe & e g
3R UM/ B! THY TSI SV & HRUT g aTell b 3 "1 g1 TA-He &1 T TG gy Safas § ufdgd
Uikl 3R Tefd gaT iR Uit ot gT1at T Taiferd 8 | e & guRomy fFRudie U ¥ SiReIHRY g1al & Jread §
B a1 RIW 3HTHHU & HRU IOF 8Id ¢ | SUrbieatia TR, bt 3R gfémr smikeT §f 3iRe I=ad TR | &1
JUGfesel IR Usd J € 3HD! I &3 I &, 3R a1 & Y & o1 & IURId T S aret S YfHy-Usier gonferal &
BRI &3 9g 61 § (IaTeund, YR TeH & v Tl 3R Sargs & Hreqd ) | udd & T &, gdcdia ger
T HH BIdT off IeT SMTT-eRuT, RATerdt & § Sicfia IR 3R Sieehd BIct AfH! & Jad ST BT 3 I-3BIe H 31T I
URadHl I a1 S ahdT § | Uah STe] URUMH, Sid & ATeqd ¥ g ard Syl Foyfly & sraaferar & s Sy deaa g |
3 H o ARRIYUI 3 dTell Bl ATehITeIdh (oidl SeTgH & HORI &b 1Y 3 9T IREER AT & DRI A™F-IRT 1 gl areit
&fa & IR # 8, Ud Ig-aTH @t &fd 3R uRumaRa=y 819 aTelt I Sadrgadar &t g1, T & dgad AR 3R ME-4RTS
(RreeeM) & SR AT & Igd Ofd WR & HRUT | VT AHIT & 3ifaw ulomy §: ger Fdfieur, Iudas oid 3R It
T H uRadH, 3R 3% URUMTHRGE Y, A0 e & T Hedrul & foTT e WTe, TRT 3R §4H-HT8 SATGH H g
Gl
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95. According to the passage, which of the following are the consequences of decline in forest cover?
1. Loss of topsoil

2. Loss of smaller rivers

3. Adverse effect on agricultural production

4. Declining of groundwater

Select the correct answer using the code given below.

(@ 1,2 and 3 only (b) 2, 3 and 4 only (c) 1 and 4 only (d)1,2,3and 4

96. Which of the following is/are the correct inference/ inferences that can be made from the passage?

1. Deforestation can cause changes in the course of rivers.

2. Salinization of land takes place due to human activities only.

3. Intense monoculture practice in plains is a major reason for desertification in Tropical Asia, Africa and South America.
Select the correct answer using the code given below.

(@) 1 only (b) 1 and 2 only (c) 2and 3 only (d) None of the above is a correct inference

97. With reference to ‘desertification’, as described in the passage, the following assumptions have been made :
1. Desertification is a phenomenon in tropical areas only.

2. Deforestation invariably leads to floods and desertification.

Which of the above assumptions is/are valid?

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

Passage-2

A diversity of natural assets will be needed to cope with climate change and ensure productive agriculture, forestry, and

fisheries. For example, crop varieties are needed that perform well under drought, heat, and enhanced C02 - But the private-sector
and farmer-led process of choosing crops favours homogeneity adapted to past or current conditions, not varieties capable of
producing consistently high yields in warmer, wetter, or drier conditions. Accelerated breeding programmes are needed to conserve
a wider pool of genetic resources of existing crops, breeds, and their wild relatives. Relatively intact ecosystems, such as forested
catchments, mangroves, wetlands, can buffer the impacts of climate change. Under a changing climate, these ecosystems are
themselves at risk, and management approaches will need to be more proactive and adaptive. Connections between natural areas,
such as migration corridors, may be needed to facilitate species movements to keep up with the change in climate.

98. With reference to the above passage, which of the following would assist us in coping with the climate change?
1. Conservation of natural water sources

2. Conservation of wider gene pool

3. Existing crop management practices

4. Migration corridors

Select the correct answer using the code given below.

(@) 1,2 and 3 only (b) 1, 2 and 4 only (c) 3and 4 only (d)1,2,3and 4

99. With reference to the above passage, the following assumptions have been made :

1. Diversification of livelihoods acts as a coping strategy for climate change.

2. Adoption of mono cropping practice leads to the extinction of plant varieties and their wild relatives.

Which of the above assumptions is/are valid?

(@) 1 only (b) 2 only (c) Both 1 and 2 (d) Neither 1 nor 2

Passage-3

Today, the top environmental challenge is a combination of people and their aspirations. If the aspirations are more like the
frugal ones we had after the Second World War, a lot more is possible than if we view the planet as a giant shopping mall. We need
to get beyond the fascination with glitter and understand that the planet works as a biological system.

100. Which of the following is the most crucial and logical inference that can be made from the above passage?
(a) The Earth can meet only the basic needs of humans for food, clothing and shelter.

(b) The only way to meet environmental challenge is to limit human population.

(c) Reducing our consumerism is very much in our own interest.

(d) Knowledge of biological systems can only help us save this planet.
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95. 30 gR=de ¥ IER, eafaf@a & @ Fa-¥ F-ameoa F v gw F gfomr 2
1- 3uReger &1 gifd 2- eI BIET AAfer &1 g1fer

3- P 3cured W gfdge verma 4- silesTer dr g

A foT 97T He FHT g N FE 3R AT

(@) ael 1, 2 31X 3 (b) haer 2, 3 I 4 (c) shael 1 3R 4 d) 1,2 33R4

96. 3W TR=AG A, PFARRAT # @ FlF-T/A I Aswy (FHW) AHTaT ST FhaT FAFF AT THS §?

1- Tl & FROT AfGAT & ARY 7 aRada & e B

2- A FT Jauieras Fad AT FAFAT & HROT BT g

3- Hewel # g UHUET HIY-TUT, ISUCRTCAHT TRIAT, AT IR ST ARG H HSHIA 1 THG HROT g

A foT 97T He FT g N FE 3R AT

(a) Fae 1 (b) Faer 1 3R 2 (c) ¥aa 2 3R 3 (d) 3T & @ F$ o T vy e &

97. #ENHAA & WS A, w1 F wRedg # aviw BFr o @, efaf@a q@uRone san$ o€ §

1- FTHIS, hael ISUHICTHT &3 &I U °ea gl 2- 916 3R ATHAA, ToleHelel & Afard  afoma §)
39FT A ¥ HleT-Al EUROT/GEUROTE der

(a) Faa 1 (b) Faer 2 () 1 3R 2 g=r d)TartaiRad?

TRede-2

STorarg gRade 1 HHAT Hel AR Seulesdh Fi, el qur AHgureld 1 AT Fa & fAw grpfas
aRtaeafat $r fafauar #1 sraeawar gefl saetor & fov, Wi wae fRedt 1 smaeawdr § S g, R 9 g w2 &
Fceta oo fasures wl Afhed BHel B Yol & fov st a7 3R haw-aRka gfhar sriia sryar adaeT gemsit & 39S
T THET AT T G FA § A 6 3T RREAr @ S YR A9, 3G 3UET SE GAN3 A Fad 3ed 3ceA oof A
TS {1 adHe e, AFdt 3R 3% aer BaEt & e et B e s AR (qE) @ W W &
T caRd oietel HRIshAT HT JMaRIhar &1 HIEThd HE00T UIRAH, S & TR Sewgor-a, #aa, IAAr Sioary
IREd & el 1 Aok Fehl 1 e §5 SeIary & I ¥ UIRAT T8 Fehe H § AR yaU SURTH I I0ETRd it
qE-fRT 3R 3ol AT G| Upfad & & @ & wAle, o R varee afeemt, @ snaeasar snfaar @ afaeferdr
g T & v gl fSad o STefarg qRacel &1 A& fhar S &l

98. 3udFa IR F el A faf@a & @ Fla-q, Faayg adaw F7 awa T F AT FerwF e
1- Srpfcier STel Gl 1 TR&ToT 2- 3TYeTIh SATISH SiieT ol I EETOT

3- facATT wHe yaus yeufaar 4- aresT e

A feU I e #T gANT H HE 3N glAT|

(@) Faer 1, 2 3R 3 (b) Faer 1, 2 3R 4 (c) dhaar 3 3R 4 (d) 1, 2, 3 3R 4

99. 39dFd UR=oE & Hed H, Pfafad @urRemd a8 7S &

1- Shifaer &1 fafatiemor, Seary aRads & |HEAT F H T Aol & & 7 FF HAT ¢

2- THUT GHA-UGUT H A & ey fRed 3R A% aed dell, FAfta T 3 e g1 g

39gad # @ Hiof-Hl EUROM/IEUROTT de

(a) Shadr 1 (b) &aer 2 (c) 1 3R 2 g=r (daart1iRadr2

qRede-3

et M gHierofe el St aUr geehr 3TRiETHT w1 FHedad g IfE sewied efady fawagey & A &
fRHRICh bR Y &1, I Sg ITUF THIGATY TAN &, 39 efehior & Joiell # S G Y O faRmTerhry AT Hiel Hir #7ify
ST B1 §H THH-GHD & YU & W AT AT TUT T§ FASA dMMe0 & geal veh Sifdeh a7 &1 ifd HF ach B
100. 397 aR=de @, afaf@a & @ sla-ar wEifts Poas 3k afvs et (%) FFen s awar 82
(a) g2 AT T WeH, TET TAT T HT ool HURIA HEALIHANT H gfed 3 Fheh B
(b) TITERONT FeAlelr &1 WHAT el T UhAT AT STAEEIT B AT ST B
(c) TR TIIT 3usiicFcrdle; &1 ol HYaT TN & Bl 7 B
(d) shaer Sifdeh o3 & AT &7 g4 g2l AT S H
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